1/N,, dN,/dN_./dn do

Ratio to ATLAS

13000 GeV pp

| | 17T 717 71T | T T Tt TTT | TTT I | ] 9
3
1= Nch (ATLAS UE in Z production) 3
- 1=
- m  ATLAS &
| --0-- Pythia 6.428 345 n
0.8 .- —%— Pythia 6.428 370 =
B Pythia 6.428 ambtl s
—— Pythia 6.428 z2 o
— -1 .=
B |
0.6 — |
- 18
— / "N a’A N (Srr)
g B —'\" ©
0.4 — N —3
— b\ 3 ] ‘_|
- %
‘ " N\ 8
- /,' :\_ — 8
0.2 — ,. N — <
u D\ 18
N [%)]
B g 7 §
SRS o
— =m (@]
N | | | | |4 | | | | | | | — -
: T T T | T T T T | T T | T :
2 = =2
1 B S AN~ 1
— . \\¢” ¥
0.5 — —0.5
| 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 | 1




	Contents
	Page 1


